| Efficiency vs Dxy |

> 0.1
<

yo : : :
@.09F it
z ool
D.08F bt
o ool
D07 e
© : : :
0.06F -
005f-
0.0af-i
003— -------

0.02

0.08 b

..........................

..................

o+

Rati

0.95

=
!

| Efficiency vs Dz |

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global _mkFit_ CANDFINAL100stable
—— DQM_V0001_R000000001__Global__mkFit_ CANDFINAL100stable2

N 0.2
o

D.AGE s s R
. F i i

PL6p
O = . .
.14 poeenenes :
o : :
0.2
O |

...............................

10

20730

TP dz (cm)




	Contents
	Page 1


